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1. (10 poena)
static unsigned* io2Ptr = 0;
static int io2Count = 0;

static int io2Completed = 0;

int transfer

}

interrupt void io2Interrupt () {

if (*io2Status&2) { // Error in I/O 2
io2Completed = -1;
*io2Ctrl = 0; // Stop I/0 2
return;

}

*io02Ptr++ = *io2Data;

if (--io02Count == 0) {

(unsigned* blkl,
// I/0 2:

i02Ptr = blk2;

io2Count = count2;
io2Completed = 0;

int status = 0;

*io2Ctrl = 1; // Start I/0 2

// I/0 1

*iolCtrl = 1; // Start I/O0 1

int countl,

unsigned* blk2,

while (countl>0) {
while (! (*iolStatus&l)); // Busy wait
if (*iolStatuss&2) { // Error in I/0 1
status [|= 1;
break;
}
*pblkl++ = *iolData;

countl--;
}
*iolCtrl = 0; // Stop I/0 1
// Wait for I/0 2 completion:
while (!io2Completed)
if (io2Completed<0)status |= 2;
return status;

io2Completed = 1;
*io2Ctrl = 0; // Stop I/0 2
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int count2)

{



2.

(10 poena)

VA: Page(8):Offset(16)
PA:  Frame(8):Offset(16)

Sekvenca stranica koje se traze: 3, 3, 3, 8,8,3,3,3,5,5,6,6
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3. (10 poena)

void Thread::suspend () {

}

lock ()

jmp buf old = Thread::running->context;
Thread: :running = Scheduler::get();

jmp buf new = Thread::running->context;
yield(old, new) ;

unlock () ;

void Thread::resume () {

4.

lock ()

Scheduler: :put (this);

jmp buf old = Thread::running->context;
Scheduler: :put (Thread: :running) ;
Thread: :running = Scheduler::get();

jmp buf new = Thread::running->context;
yield(old, new) ;

unlock () ;

(10 poena)

int create thread (void (*fun) (void*), void* p) {

int ret = fork();

if (ret<0) return ret; // Error

if (ret>0) return ret; // Parent thread context
// Child context (ret==0):

(*fun) (p);

exit (),
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